Glasgow Counts
4 operations
Key strategies
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Addition
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37 + 25 =
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Place Value Counters
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84 ÷ 6 = ?
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37 + 25 =
There are 37 children on a bus.  
25 more children get on.  
How many children are now on the bus?



Division
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Subtraction
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Place Value Counters
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[image: ]Show me 4 ways…
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56 kids, how many teams of 4 ?
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Reverse Grid
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lllustrating using dienes

Starting with 84 and then rearrange into 6 groups....
Need to exchange tens for ones. 14
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lllustrating using dienes

Starting with 84 and then rearrange into 6 groups....
Need to exchange tens for ones.
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Using place value counters




image14.png
(7]
S
[]
=
c
>
o
o
]
=
@©
>
)]
(5]
L
Q.
oo
=
(7]
>

4
a

Starting with 84....





image15.png
86
@@
@@
e®




image16.png




image17.png




image18.png
Pictorial





image19.png
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Sharing and Grouping :12+3 =4

Sharing
Lucy has 12 sweets and shares them between 3 of her friends. How many sweets does each friend get?

We would say:

z @ @ 12 sweets shared between 3 people — 4 sweets each
] i ]

The answer lies in the value of each share.

Grouping
Lucy has 12 sweets. She wants to put them intogroups of 3. How many bags will she have?

We would say:
12 sweets put into bags(groups) of 3 gives 4

bags (groups).
The answer lies in the number of equal groups.

)

Bar model shows relationship between whole/ parts
and makes links to division.
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Grid methods for multiplication

24x6=(20+4)x6
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What is18x3 ?
How many different ways can you show me?

By partitioning:
3x(10+8)
30+24=54

By factorising:
3x9x2
(doubling)
27x2=54

Rounding and
compensating
3x20=60
Subtract3x2 =6
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Dienes
12x3=7

Combine the tens
=30

Combine the ones
=6

30+6=36
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Counting on.......

( 45-29=?

( 29+? =45
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Compensation

Using rounding to support subtraction.
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Counting on.......

( 45-29=?

( 29+? =45
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Compensation

Using rounding to support subtraction.
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346 -158 = ?
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Doubles

Adjusted

Near
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Commutative Law

S

3x5=5x3
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Repeated Addition
3+3+3:3:3:15
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Transformation

Changing the calculation to make it easier.
In subtraction we keep the same difference.
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How many can you see?
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